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B. A. (Third Year) Examination, 2012

(Old Course)

ESO - 16

Social Problem in India

(Xkk@P Ykx bkkYkklHkAù bkYkbZkk.f)

Time : 3 Hours Max. Marks : 70

Note : The question paper is divided into three Sections A, B and C. Give the answer

according to the directions given for each Section.

Zkc Ék#TkUÇk &Aù"ä &Bk" .^kg &Ck" PmTk BkOMkx Ykx l^kXkklHkP cw‹ Ék’ZkvAù BkOM Avù lTkRvr#kkTknbkk@
Ék#Tkkx Avù ¤Åk@ RmlHk.‹

Section - A

BkOM - Aù

(Long Answer Type Questions)

(RmDkr ¤Åk@mZk Ék#Tk)

Answer any two questions. Each question carries 20 marks. 2×20=40

lAùTc{ Rkv Ék#Tkkx Avù ¤Åk@ RmlHk.‹ Ék’ZkvAù Ék#Tk 20 ¢gAŠkx Aùk cw‹

1. Described the concept of Social transformation and Its different models.

bkkYkklHkAù êUkTP@Ok Aùm ¢^kSkk@Okk .^kg £bkAvù l^klXkÆk ÉkkêUkx Aùk ^kOkrTk AùmlHk.‹
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2. What do you mean by migration? Define its significance, forms and chief

characteristics.

Rv#kkTP@Ok bkv ¢kU ‘Zkk bkYkIkPv cy? £bkAvù YkcÅ^kä ÉkAùk@ .^kg YknBZk l^k#kvakPk¢kvg Aùm ^ZkkBZkk
AùmlHk.‹

3. Deliberate the problem of non-agricultural labours and artisans with reference to

India.

Ckw@-Apùlak ÌklYkAùkx ¢kw@ RbPAùk@kx Aùm bkYkbZkk¢kvg Aùm Xkk@P Avù bkTRXkr Ykx l^k^kvFkTkk AùmlHk.‹

4. Write an essay on drug addiction and alcoholism effects on society.

bkYkkHk U@ Tk#km\kv URkQkkv‰ Avù ^ZkbkTk .^kg Yk<UkTk bkv UMjTkv ^kk\kv ÉkXkk^kkx U@ .Aù lTkWkTSk
l\klBk.‹

Section - B

BkOM - Bk

(Short Answer Type Questions)

(\kDkn ¤Åk@mZk Ék#Tk)

Answer any four questions. Each question carries 5 marks. 5×4=20

lAùTc{ Fkk@ Ék#Tkkx Avù ¤Åk@ RmlHk.‹ Ék’ZkvAù Ék#Tk 5 ¢gAŠkx Aùk cw‹

Briefly discuss the following :

lTkYTk Aùm bkgdkvU Ykx FkFkkr AùmlHk. :

(b) 7th April, 1946

(c) 6th May, 1952

(d) 9th June, 1942

l^k#^k b^kkbQZk bkgCkLTk Aùm bQkkUTkk cn£r :

(a) 7 ¢Ékw\kä 1948

(b) 7 ¢Ékw\kä 1946

(c) 6 Yk£rä 1952

(d) 9 HkoTkä 1942

5. The declaration of the Rights of the child was start for the first time in the

year .................

(a) 1926

(b) 1924

(c) 1925

(d) 1935

Uc\km Wkk@ Wkk\k ¢lSkAùk@kx Aùm DkkvakOkk ^kakr ååååååååååååååååååå Ykx Aùm Ck£r‹

(a) 1926

(b) 1924

(c) 1925

(d) 1935
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1. United Nation Agencies involved in children’s welfare.

Wkk\k Aù\ZkkOk Ykx bk†YYkl\kP bkgZkn‘P-@kì} .HkxlbkZkkf‹

2. The untouchable castes and their origins.

¢GoP HkklPZkkf ^k ¤bkAùk ¤R~CkYk‹

3. Scheduled Caste and Social Mobility.

¢TknbkolFkP HkklPZkkf .^kg bkkYkklHkAù CklP#km\kPk‹

4. Croplands, the main source of substenance for the people.

Vúbk\km XkolYk-\kkvCkkx Avù Hkm^kTk-lTk^kkrc Aùk ÉkYknBk bkkSkTk‹

5. Water as a community resource.

UkTkm .Aù bkkYknRklZkAù bkgbkkSkTk Avù êU Ykx‹

6. Concept of Violence and Peace.

zcbkk .^kg #kkglP Aùm ¢^kSkk@Okk‹

7. Labour-Unrest.

ÌkYk-¢#kkglP‹

8. Social process affecting family structure.

Ukl@^kkl@Aù bkg@FkTkk Aùkv ÉkXkkl^kP Aù@Tkv ^kk\kv Aùk@Aù‹

(c) Goal-oriented

(d) Casual.

TkCk@mAù@Ok Aùm ÉklÓùZkk Ykx TkCk@kx Ykx @cTkv ^kk\kv bkYknRkZk Avù bkYWkTSk ckvPv cy -

(a) ^Zk†‘PCkP

(b) ¢kwUFkkl@Aù

(c) SZkvZk\kBkm

(d) ¢lTkZkP

3. Who among the following are not responsible for the increasing use of illicit

drugs in society ?

(a) Western music singers

(b) Drug traffickers

(c) Peddlers of drugs

(d) Governments policy makers.

bkYkkHk Ykx ¢^kwSk R^kk¢kvg Avù ¤UZkkvCk Aùkv WkNjkTkv Avù l\k. YknBZk êU bkv lTkYTkl\klBkP Rkvakm cy -

(a) Uk#Fkk’Zk bkgCkmP CkkZkAù

(b) R^kk¢kvg Aùk ¢^kwSk ^ZkkUk@ Aù@Tkv ^kk\kv

(c) Hkê@PYkgR \kkvCkkx PAù Fkkv@m lGUv R^kk UcnfFkkTkv ^kk\kv

(d) bk@Aùk@m TkmlP WkTkkTkv ^kk\kv

4. World Health Organisation was established in :

(a) 7th April, 1948
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Section - C

BkOM - Ck

Objective Type Questions (Compulsory)

^kbPnlTkí Ék#Tk (¢lTk^kkZkr)

Answer all questions, Each question carries 1 mark. 1×10=10

bkXkm Ék#Tkkx Avù ¤Åk@ RmlHk.‹ Ék’ZkvAù Ék#Tk 1 ¢gAù Aùk cw‹

Write True/False against the following :

lTkYTkl\klBkP Avù bkkYkTkv bk’ZkÖ¢bk’Zk l\klBk. :

1. Rapid growth of urban population leads to greater division of labour.

(True/False)

#kc@m HkTkbkgBZkk Ykx PvHkm bkv ^kplá ckvTkv Avù Aùk@Ok ¢’ZklSkAù ÌkYk-l^kXkkHkTk ckvPk cw‹

(bk’ZkÖ¢bk’Zk)

2. Workers in the unorganized sector get no legal protection. (True/False)

¢bkgCklLP dkvÇk Avù YkHkRo@kx Aùkv Aùkv£r AùkTkoTkm bkn@dkk Tkc{ lYk\kPm cw‹ (bk’ZkÖ¢bk’Zk)

3. The central government is solely responsible for passing labour legislation.

(True/False)

ÌkYk AùkTkoTk WkTkkTkv Aùm lHkYYkvRk@m AvùTæ bk@Aùk@ Aùm cw‹ (bk’ZkÖ¢bk’Zk)

4. The drinking water is easily availalable in all the villages. (True/False)

Rv#k Avù bkXkm Ckkf̂ kkx Ykx UmTkv Aùk UkTkm bkn\kXk cw‹ (bk’ZkÖ¢bk’Zk)

5. Article 15 of the constitution of India empowered the government to make special

provision for women. (True/False)

Xkk@PmZk bkgl^kSkkTk Aùk ¢TknFGvR 15 bk@Aùk@ Aùkv Yklc\kk¢kvg Avù l\k. l^k#kvak Ékk^kSkkTk WkTkkTkv Ykx
¢lSkAùk@ RvPk cw‹ (bk’ZkÖ¢bk’Zk)

Choose the correct alternative :

bkcm l^kAù\U FknlTk. :

1. The concept of the marginal - man is developed by -

(a) Robert E. Park

(b) Robert Redfield

(c) Louois Dumont

(d) Louis Wirth.

bkmYkkTP ^Zk†‘P Aùm bkgAù\UTkk l^kAùlbkP Aù@Tkv ^kk\kv l^kçkTk cy -

(a) @ktWkKr £r0 UkAùr

(b) @ktWkKr @vMVúm\M

(c) \kn£r MnYkkgM

(d) \kn£r WkQkr

2. In the process of urbanization, the relation of community living tends to

become ......................

(a) Personalized

(b) Informalised


